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Northeastern University, one of the CHOT partner universities. And the title of this webinar is Spreadsheet Tools for Detecting Improvements and Evaluating Intervention Cost Effectiveness under the CMS Incentive System. Now before we get started and then we turn this over to Jim, I’d like to just point out a couple things.

Our next CHOT deep dive webinar will take place on Wednesday, December 5. The webinar's topic will be Bridging the Health Management and Clinical Divide in Innovation and will be hosted by Texas A&M Health Science Center. And you'll be receiving more information on that, but principally it looks at approaches that combine both management tools and patient care tools to, as I say, bridge that divide.

The spring 2013 Industry Advisory Board meeting, or IAB meeting, as we call it, will take place on Thursday, April 11 through Friday, April 12, and that will begin early the morning of April 11, so it'll be necessary to travel in on Wednesday evening. It'll be in Atlanta, Georgia, and we will provide you with details on the venue and instructions for booking your room in the coming weeks.

Today's webinar will last approximately 45 minutes. Time for questions and answers. Webinar will be recorded and posted in the password-protected section of the CHOT website for future access. With that, I'll turn it over to today's presenter, Doctor Benneyan.
>> Thanks, Larry. How are things down there?
>> Very nice today, very pleasant.


>> Believe it or not, we're in Boston expecting a nor'easter, I think.
>> Still in the forecast, so we've got the double whammy weather-wise. So, I'm gonna jump right in, in the interest of time, so thanks, anybody, who joined in. The general plan is, actually we just had what, the fall meeting of the CHOT Center, I guess, last month and we showed some of this, but because there was such rapid fire presentations there was interest in talking about it a little bit more.

So we thought we'd do this webinar, and so, really, what I wanna do is thank you for giving me credit for this work, by the way, but it's mostly the work of two of my students, Luke Gromeo, who's here with me and one of our summer interns who is back in Toronto now Amanda Beall.

But what we wanted to do is just kind of recap where we are. So, just some quick feedback. Larry, are you seeing my slides? And I should have just advanced.
>> Yes.
>> Okay, so in terms of an outline, we've been doing a lot of work and thinking, as industrial and systems engineers, about the whole landscape of readmissions and where could people with our particular skill set as our site within the CHOT center adds some value.

So just thought I'd recap that very quickly, but then I wanted to focus on two things that seem to have piqued people's interest. One is, what we've been doing with statistical control charts to monitor readmission rates. A little bit of time on that, but mostly I wanna hand the mike over then to Luke to talk about the work he's been doing in economic analysis.

And as Larry mentioned, if we can kinda save 15 minutes at the end for discussion and Q&A, and where to from here. So you should have-
>> Jim, this is. I just joined on. Good morning.
>> Hey, Steve. Thanks for joining. How are things out there? What is it, eight o'clock, California?


>> It's eight o'clock, and yesterday it was about 78 degrees in San Francisco, but this morning it's about 62 and foggy, back to normal.
>> Yeah, well. If you just joined, I give the weather forecast. We're bracing for a nor'easter.
>> All relative.
>> It’s all relative. You should see a slide now background.

And so most people, I think, are familiar with the readmissions problem but it’s a big problem costing a lot of money. The CMS, and if you extrapolate broader, multiply that cost by three, maybe, huge amount of focus. Lots of people doing lots of work, testing various interventions to improve the discharge process, patient navigators, how do we monitor patients at home.
 
Basically, lots of work going on in readmissions. CMS has launched their re-admissions reduction program, and Luke's gonna talk a little bit more about the incentive penalty system, because it's more of a penalty system than an incentive system and some economic work he's been doing on that. But recently, what was it, a month or two ago, CMS came out with the first wave of penalty, 2,300 hospitals roughly.

About $270, $280 million dollars in penalties. So Luke really wants to kind of do a deeper dive on how all that's calculated and what makes sense and what doesn't make sense. So, what we've been doing for at least a year now, is this scoping exercise, just looking broadly at what could industrial and systems engineers do to support all the other work going on.

So, we gave in the spring a similar webinar that should be on the CHOT website and Nick could send out the link again to it. But it really gave a broad overview of everything we've been doing in readmission. So, if you're curious about that, there's a PowerPoint and the tape recording, whatever you call it, the AVI file or something for WebX.

But recently we've been looking more at controlled charts and this economic model. So that's where we wanna go, but this is really the portfolio of work we've been doing. Go to that WebX and that PowerPoint to get more information, everything from the beginning to the end. Can we predict who's likely to be readmitted?

Can we do a better job at that, since a lot of people are having problem with the prediction. If we can predict who's likely to be readmitted, you'd want to target those people with different interventions, how would you optimally target who, with what interventions, when? That's sort of the optimal use of resources and timing.

And then if you do all that, how do we know if things have gotten better? So, that's the big, big picture, and I just wanted to to remind people of this large portfolio of work. So, very quickly, and then I'm gonna get to Luke's stuff. So my background is really in quality and within that, technically within control charts, so the whole idea of plotting and monitoring data over time to know if things are getting better seems to make a lot of sense in the readmissions world.

This summer I had a summer intern, Amanda here, who is very good with Excel macros and things like this. So one of the things she did is develop this tool. But the idea, if you're familiar with control charts, or not familiar with control charts, the idea in the upper left-hand corner, for example, is just to be monitoring, over time, readmission rates.

And, of course, everything varies in life, so the question is within the context of natural variability, when have things gotten better Error or worse, so this is what statistical control charts are very good for in manufacturing, lots of patient safety, healthcare applications and so on. So here are just some quick examples of real data sets that we've been applying, different types of statistical process control charts too.

We do a lot of research in SPC so jumping in, in for a penny in for a pound I guess and this sort of opens up lots of technical need. For example we've developed special purpose risk adjusted methods. Just like mortality, adverse events, surgical site infections, vent, pneumonia.

You have to take into account the particular group of patients and their particular time frame and their acuity and do some risk adjustment. So we've developed special purpose risk adjusted control charts. I can tell you more about that offline if you're interested in that but the general idea is to support all of the process improvement work going on to overlay that with a nice monitoring tool to know when things are getting better or worse.

Some types of control charts are better at detecting smaller changes faster which seems like we would want to know about. So lots of people are familiar with the good old fashioned shoe heart type of control chart. Turns out they're kind of slow to detect small improvements. So, you can kind of put them on steroids by using exponentially weighted moving average control charts or cumulative sum control charts.

That's straight out of the box in lots of software. We've embedded it into a nice Excel tool. Where now you should be looking at a screenshot of some of the results from that tool. The thing that's unique here is we do some risk adjustment and then calculate the exact risk adjusted control charts, which actually would be useful for any healthcare context, not just readmissions.

So what you're looking at moving from the upper left hand corner, clockwise, is a good old fashioned shoe heart pea chart on readmissions. And then, in the upper right hand corner, exponentially weighted moving average chart on a particular data set, which picks up the improvement, reduction, and readmission rate a lot more dramatically because that's what their designed to do.

Below that is a cumulative sum chart, not worth talking about here. You can see two lines plotted on at least three of these charts and the red line is the unadjusted and in the darker or the blue line on all three but the upper left hand corner are the risk adjusted.

Sometimes risk adjusting and pushing that data through SPC makes a big difference, and sometimes it doesn't make a big difference. And basically it depends on A, how different your patients are, and the more different the more it matters. And B, how small your sample is, and the smaller the more it matters.

Simply because you don't get things like central limit effects and so on. So if you're monitoring in a small health system, a particular type of patient, heart failure or something else in Realtime on a weekly or monthly basis it'll matter and if it's a large system and you're monitoring quarterly all patients lumped into one big bucket it probably won't matter.

This is a screenshot of what the tool looks like. This is just an Excel tool. I'll break to that momentarily but any given time frame you would put in certain types of data. You might know data on every patient. The date they were discharged and ultimately were they admitted or not?

You might have a risk adjuster that predicts the probably that particular patient would be readmitted or you might not. You might have aggregated data, say monthly, like 20 C-H-F patients were discharged this month and of those 20, how many were readmitted? So you may have individual data or you may have aggregated data.

There are different areas in the spreadsheet where you put it in in different ways and then a macro basically bangs through the math and produces all these charts. So I wanted to see, this will be a little bit of an experiment itself, if I can show you. Okay, so here's the spreadsheet it just came up.

Across the bottom are a series of tabs. The first tab is just a lot of background information on how it all works and the very last tab I think has all the calculations. But here's an example where on the first of every month here's October 1st, 2007. So for the month of October, there were 46 discharges.

Of those 46 discharges in a particular patient population, nine were ultimately readmitted. Whether that's a 30 day readmit number or a 90 day readmit number doesn't really matter for purposes here. So this is monthly aggregated data. The other format would be this type of format in a different tab, where we know every patient and we know the risk adjusted probability they'll be readmitted.

We know if they were readmitted or not. We may, as opposed to having a specific probability for that patient, assign them to a category, low through high risk. And so you can risk adjusting in any of these ways or you can not but in any case, once you have the data keyed in, you hit a macro button, crank through the math and- What happened to those charts?

Here they are. Produces all of those charts. So in pretty much Realtime, take this out of your hands. Let me see if I can cut to. I'm sorry, I'm looking for a different data set. Okay, so here's a. So this is how risk adjustment might work. If you can see this spreadsheet I'm highlighting some data in blue.

Where essentially we have two risk groups. Maybe it's a low risk group and a high risk group. And on a monthly basis the number in the low risk group that were discharged and the number that were ultimately re-admitted and the number in the higher risk group that were discharged and ultimately re-admitted.

So this is just an example of that stratification idea. And it would produce charts that look exactly like this. So for example, here you're looking at in the upper right hand corner this exponentially weighted moving average chart and the blue line is good old fashioned what any software would produce and the red line is when you account for risk adjustment, which as far as I know is not in any software that's commercially available today.

So this is a tool actually for any type of risk adjusted data. So really, I just wanted to expose you if you weren't at the recent Meeting. Let me fast forward to, Because we presented some of this, where were we, at the Pennsylvania meeting. But if you're interested in using this tool, Nick will get it up on the CHOT website if you wanna talk more about it.

I'm certainly very happy to talk more about this because I would love to see people using control charts more in healthcare. So as a rapid fire push through, cause I really wanted to carve some time out for Luke because I think his work is much more interesting and exciting.

I’m gonna change chairs with him so he can be closer to the speakerphone. But what Luke has been doing, is looking at the CMS incentive policy for readmission reduction. And he's got some pretty interesting models with some, I think, counter intuitive results. And I guess I'll handle it over to you, Luke, and through this, and then I would love to hear people's reaction.

So it's all yours.
>> Great. Thank you. To start off, just looking at the background of where these financial payment system changes are coming from, they're as a result of the hospital readmission reduction program. And what this program does is it creates a methodology by which payments to applicable hospitals will be adjusted to account for excess readmission.

It does that by calculating an adjustment factor that reduces future DRG payments. So this changes every year, but for fiscal year 2013, the adjustment factor has a floor of 0.99. So what that says is that for every hospital, the adjustment factor will be between 0.99 and one. If it's one, that hospital will receive the full reimbursement.

If it's 0.99, they will only receive 99% of what they normally would have received had they not had this adjustment factor. And this floor decreases every year in 2014 and 2015. And they think it will probably stay at 97% or 0.97 for 2015 and going on. What's also interesting is the applicable period, which is that period is for which data is collected for the adjustment factor calculations.

For 2013 the adjustment factor has already been calculated, and that's because the applicable period was between 2008 and 2011. And all that seed has already been collected. So at the three year period, and for each following fiscal year, they will use subsequent three year period. And then for the applicable conditions, they're looking at heart failure, AMI, and pneumonia.

And those are the conditions that will be used to calculate the adjustment factor. And the way the adjustment factor is calculated is it's one minus the ratio of payments for access readmission over payments for all Medicare discharges. And just to go a little bit further in the payments for excess readmissions is for each applicable condition where the excess ratio is greater than one, the sum of the base operating DRG payments times the active readmission ratio.

This excess readmission ratio is calculated using risk adjustment by this DMS. It's greater than one if that hospital is performing worse than expected, and it's less than one if the hospital is performing better than expected. And then all the discharge is just the sum of the base operating, same as for all Medicare discharges.

And written mathematically, this is just the way the model looks at these calculations. So who's affected by these changes in the Medicare payment system? So out of the 3,500 possible providers or hospitals, you can see at the top the adjustment factor of one for fiscal year 2013, these hospitals have no adjustment.

That's about 36% of all hospitals. But if you look at it by patient volume, that's only 28% of Medicare patient volume because some of these hospitals that receive no adjustment are smaller hospitals that didn't have enough patients to qualify for the adjustment. And then there's a large number of hospitals in between.

The no adjustment of one and the four of 0.99 for fiscal year 2013. So these hospitals will receive an adjustment somewhere in between 99% and 100% of what they otherwise would have received for all of their Medicare ERG payments. And this is about 54, 55% of hospitals, but a higher number of that, 61% of Medicare patient volume.

And then finally on the bottom, you have hospitals that are receiving the max adjustment. These hospitals have adjustment factors that were calculated at or below .99, but since in fiscal year 2013 the floor stops them from receiving a payment, an adjustment factor below .99. And something else that's also interesting is that lower income serving hospitals are generally penalized more.

As the DSH patient percentage increases, this is negatively correlated with the adjustment factor. So hospitals that have higher DSH percentages receive lower adjustment factors in general. So basically they're being penalized at a higher rate. And so one of the things we wanted to do is create a hospital tool so that hospitals could see where it made sense, how it made sense for them financially to go about these changes.

So the hospital tool, it's a five year financial analysis. It's really focused on the penalty savings by intervening because you're lowering your expected penalty costs, but also looking at lost revenue that comes by reducing admissions. And by comparing these two you can create basically a budget for your intervention policy that shows whether your interventions ended up being cost effect or not.

And so what the model does is that it uses some publicly reported data, and this is available through the CMS. The number of patients, the annual number of patients for AMI, heart failure, pneumonia, the access readmission ratios for fiscal year 2013, which Medicare has published, and the adjustment factor, which Medicaid has also made publicly available.

But then it also asks for user inputs that are specific to the hospital that's using this tool so that they can better understand the effects based upon their own characteristics and needs. These include a lost revenue adjustment, which I'll speak a little more about further on, an interest value, which is used for time value of money, the average Medicare payments for AMI, heart failure, and pneumonia, and the total Medicare payment.

So what the model does is, for over here on this graph you can see, for a hospital that has higher than expected readmissions currently. As they lower their readmission rate, they'll basically be getting a penalty savings. As compared to if they didn't do anything. So this penalty savings will increase the lower they move their readmission rate up to a certain point.

Once they reach their expected rate or the average rate there's no incentive to reduce your readmission rate lower than that point. But along the way by reducing your readmission rate you're also losing some revenue, admission revenue that you're preventing by preventing people from coming back to your hospital.

If you're looking at it just from a financial point of view. And from these two you can basically add them together, subtract the penalty from the lost admission revenue to get this net curve or line, that you can see shows basically what your budget for interventions are, or what you can expect to save.

If you're able to intervene for a cost and a rate underneath this line, it was cost-effective, or the intervention policy you implemented was cost effective. So just as an example, an intervention policy that expected rate somewhere. I mean this is just an example but just to show somewhere in this area at a value of whatever this value is for this given hospital that intervention policy.

Even if they hit it dead on isn't cost effective over five years. Whereas if they implemented maybe more, a more involved intervention policy that maybe cost a little bit more but lower the rate further. This intervention area would have been cost effective, and again, maybe by doing too much, you would go too far below that expected rate from a financial point of view that doesn't even out.

So, the way the model calculates all this is, one part of it is just an Excel spreadsheet. And really what it does is it takes the user input, so I was mentioning before, the initial access readmission ratio have been published by Medicare. The annual admissions without intervention, so basically how many patients approximately do for each condition they admit annually.

The average reimbursement rate, and these are just example numbers that we used for the example we'll show you. But some of this is publicly available and some of it's the usual input. I'll show more about that also later on. Don't, the biggest thing that I guess is, can, isn't so intuitive is laws admission revenue adjustment.

And what this is is it's trying to look at how much the hospital values preventing an admission. How much of that revenue they feel is lost. So for a hospital that's running at, if its adjustment factor is one, that's basically saying for every admission that hospital prevented. They view that revenue that they otherwise would have received as lost revenue.

This was, this would probably be for a hospital that's running under capacity. Where as, here in this example it's 0.5, this hospital would say that the payments that they otherwise would have received, they view about 50 % of that as lost revenue. Maybe because they're running closer to capacity and by preventing an admission, they were able to do another procedure or admit another patient that otherwise they would not have been able to do.

So that's up to the user to determine whereabout that value should be. The next line is just the interest value. This is just used for the time value of money by how much they value current money and then just the total annual Medicare reimbursement. Which the hospital can input on their own.

So what this does is it takes these inputs, it looks at the readmission rate reductions. So for this example right now we're using a zero. Basically, if they stayed the same going forward, they didn't reduce their readmission rates. It does some calculations, since it's at zero right now.

The result gave a baseline. If you didn't reduce your readmission rates at all you didn't save anything, you didn't lose any revenue and the net was zero. But, if they were able to intervene and reduce the readmission rates by about 20%, the calculations for this example show an annual savings of $900,000 approximately but also losing revenue based upon the inputs that they chose and you can get a net from this.

You can put in any value going forward. Some of these obviously aren't practical values but just to show how the model works. And you can see how the penalty savings, after a point, doesn't increase because they've already gone below what's expected. Although the loss revenue continually increases linearly.

And so the next part of the model is a VBA code. It calculates critical points rather than plugging in increments of numbers and graphing it, it finds out what readmission reduction rates are. Create changes in how the penalty is calculated. It then plugs those critical points into the spreadsheet from part one.

It records and graphs the results. One of the reasons there are and is because the 2013. The adjustment factors already calculated. There's nothing a hospital can do right now. Although the adjustment factor hasn't been calculated for 2014, the applicable period has already passed. So, even if you were intervening now you wouldn't' see any benefit until basically 2015 in which case if you intervene today it'll be a little bit less but you would get about one year of intervention in the three year period.

So still two other years would be based upon pre-intervention data that the CMS would use. And it's really not until 2017 that all three years of the data collection would be from post intervention data. And this is what the model assumes to create the results it gives. And then just briefly this is how it calculates some of the critical points and I won't spend too much time on this but I'd be happy to go in more detail.

If anyone's interested I'll up-line. So we'll go through an example. This is an example. We put into the model and we estimated some of the inputs instead of user inputs and we used the publicly reported data where it was available. So this axis over here is the readmission rate reduction.

Zero percent would be doing nothing. 100% although impractical, would be just to show that you reduce your re-admission rates completely. This line here is the savings for reducing their AMI rate. Just to backtrack this hospital in this example had higher than expected readmission rates for all three. Conditioned.

So as they reduced their readmission rate for AMI, they saved money up into a point where this flattens out. And it's a similar line for heart failure and pneumonia. And then this line here is basically just a sum of those three lines. It's a total penalty savings. That this hospital would see if they were able to reduce their readmission rates by these percentages.

But also as we spoke before about what's important is the adjusted loss admission revenue. And this continues to go down throughout the admission rate instruction. And we're looking at the combined of the penalty savings and the loss revenue adjustment. That you get again this net value or savings potential.

If you're able to intervene at an annual cost for this hospital below this line, given. And achieve a readmission rate on this access, below this green anywhere in this area, it was a cost-effective intervention, just from a financial point of view. So for instance, if the hospital's goal was to intervene at about 20%, and they were going to spend about $500,000 a year to try and achieve this 20% reduction.

If they meet their goal or around their goal, they can expect to save about $200,000 a year. What's also interesting is if they're spending $500,000 a year, they would see a rate of return even if they didn't hit the 20%. Basically as long as they hit at least 12% reduction, and unless somehow they reduced it by more than 64%, then it wouldn't be cost-effective.

But generally the goal would be hit at least 12%. If this hospital were allocating $500,000 a year for an intervention And this just goes back to some of the critical points that I was talking about before. Which really just shows the model calculated these critical points which correlate to these breaks in the lines on the graph.

So these points are just readmission rates. That show where the model found that the slope of the line changes and it's for all three conditions. And really all I wanted to show is that although this might look like a curve, it's really just a linear line that the slope changes at each one of these points which the model figured out.

And these are some of the other examples of hospitals we tried to approximate and show. And one thing that’s interesting is the other hospital may have seen it was cost effective to intervene. There are many hospitals that don’t have as much potential for saving. And it really varies significantly based upon manufacturers of the hospital.

So these are three where maybe this one, it might be possible to intervene and have it be cost effective. But for other hospitals, it’s unlikely or impossible to really see any financial savings from intervening. And so we'll go through a quick demo of what the Excel model is currently just to show how some of the inputs work.

So you enter, really you would start here you would enter the provider number. It has one already in just for the example. It then asks for the average Medicare reimbursement for AMI. And these don't need to be exact it's just used to model to approximate. And then the average reimbursement for heart failure, pneumonia and then enter the loss revenue adjustment which I explained before.

Zero would be no value in lost revenue, one would be the full cost of the reimbursement that you prevented. So here we use 0.5 Interest value based upon time value of money and what the hospital feels that value is for them. And then the total annual Medicare reimbursement.

And once all of these are in, the model runs and if something's off in the presentation or the web showing of this, but basically you would get a graph. The graph isn't quite updating right, but you'd see the graph that we had shown earlier. We used the model to calculate all of those, the ones we saw earlier here.

Where were we? And so that was the basics of what we're doing with the hospital tool. And there's still more things we'd like to add and update going forward. But another area we were interested in was looking at broader policy analysis. Looking at the hospital readmission reduction program and how it currently is and maybe how possible changes might drive other hospitals to intervene in a cost effective way.

So apparently as the way the program's set up to benefits. I mean it's created a general push in many hospitals to lower readmission rates, better patient care, increased care coordination, help Medicare by saving money on spending, reimbursements, and re-admissions. And also recouping some of the money that they do spend on access readmissions from hospitals that see this penalty.

However, there are several criticisms of the program. As we spoke about before, it hits lower income serving hospitals harder. It's also a program that's all sticks, no carrots. There's no incentive to be better than average or better than expected. It's only if you're worse than expected you're penalized up until you meet the average or the expected.

And something else we were interested in and been speaking about throughout the presentation is that it might not be severe enough or strong enough to warrant interventions for many hospitals. As many of these interventions include new hires or extra personnel, they can be very expensive. So looking at this, when we were showing you those net curves before for the individual hospital.

What this is here, is we ran the model for all the hospitals, all the applicable hospitals in Massachusetts and just put them all on one graph to try and see where the spread, and what it showed. And you can see there are some hospitals that obviously have a lot of room and chance of savings or potential for savings.

Some hospitals, a lot are clustered further, closer to the axis. But one thing we wanted to look at further was to standardize these net curves based upon basically how many patients these hospitals have of AMI heart failure or pneumonia. Because obviously hospitals with higher numbers, they might unfairly show them as having large potential for savings but that's really based upon the size of the hospital.

This graph in the bottom is standardized by the number of patient and it shows more of an even Spread, and this axis over here is now the annual value per patient with one of these conditions. So basically, how much money is available to intervene per patient and for it still to be cost effect.

And to try and, we wanted to try and put a metric to how this system pulls hospitals to intervene. And so we ran this model, we used these inputs, but those are easily changed, and we just used it to make an example. So we ran the model 30 times using the hospitals in Massachusetts, just to see which hospitals would intervene.

So this slope of zero says if interventions, basically, were free and you could choose your re-admission rate, how many providers would actually have some savings. And then as you move it up if you said, just for an example, if interventions cost about $100 per patient per 10% reduction, how many hospitals then would this cost of intervention would still see some cost savings by intervening.

And the number goes down slightly, and it continues to go down as you make the lines steeper and assume interventions are more costly. We then also ran this for all the providers that were listed across the nation, and that actually shows a little bit more information about how the system might not be working so well.

Because even, based upon the inputs we used for this example, even if interventions were free, and just to see what hospitals had any potential for savings, only about 2,100 out of the 3,500 would be able to see some of that savings. And again, as the slope went up, the number of intervening providers drops significantly, and it's probably realistic that an intervention costs somewhere in this range per patent per 10% reduction.

So it's one way we were trying to look at how the incentive system is going.
>> All right, so back to me, I guess. This is Jim Benneyan. Thank you so much Luke. So just to kind of recap, I guess we gave you an overview of this tool we've developed to monitor readmission rates, and we're happy to talk more about that.

That will be posted on the CHOT website. And then we spend most of the time, Luke talking about his economic analysis. Really the implications of that next step are, with respect to Luke's work, is we'd love to partner up with some hospitals, anybody who's interested. And I think the things we're grasping at a little bit is what are some specific interventions?

What do we know about them? What do we know about their cost per patient and their effectiveness? Because we're just sort of trying to cover the spectrum and maybe do a little bit more national analysis. I think where this all leads is, for me, the giant take away is unless we have highly effective interventions that don't cost a lot for patients for very few hospitals, even if it's cost effective, is the savings significant in terms of all the things one could go after.

So, there could be some work to explore how one would design an alternate policy or policies that would be a little bit more of an incentive and that may be a combination of carrot, including the stick. So that's at least what we're thinking. I would love to throw it open and hear any comments, questions, feedback, etc from anybody who's joined us.


>> This is Nick. I've had to put a few people on mute here just, we were getting some feedback. So if you start speaking and we're not hearing you, send me an email. I'll hit unmute briefly here, but it's probably gonna get loud. But yes, I'm anxious to hear some feedback as well.

So thanks, Jim.
>> I guess I have one question that we were just thinking of here. One is that you guys are looking specifically at the cost, the savings, related to just the program and as it relates to readmissions. But what we were looking at here with discharged phone calls as they relate to readmissions.

The fact that we're seeing other bumps in stuff like patient satisfaction scores, which then affect HCAP and reimbursement there, so confound or have to make your model even more complicated. But I think there are some other avenues that we have to look at as far as interventions as they affect, not just the stick method or the stick policy, but also some of the other policies of reimbursement.

So I'm just throwing that out there.
>> Yeah, I mean we would agree with that. So this was really, I was about to use the word just, it was a lot of work for Luke, but it was just really looking at the economic piece directly, and somewhat driven by the panel piece that came out.

I mean if you do the math, it's on average about $120,000 a year penalty per health system. So it's not a lot. I think a big driver here, by the way, is the lost revenue due to the readmission. So I think there's a big argument implicitly in this for the whole bundle payment notion.

What are some other comments people would have?
>> Jeff, this is Larry. I was very interested in the presentations, particularly I think, getting to some of the policy implications and so forth. Those are certainly things that a number of us can talk about offline as well, but I couldn't help but think about some of the additional steps that might be taken by accountable care organizations.

To the extent you involve insurance companies and so forth that their benefits might not accrue to the hospital, per say, but might accrue to the overall payment structure. To the payers.
>> Right, I mean this is specifically hospital centric
>> Yeah, no it's very interesting.
>> Steve usually has an insightful or challenging comment for me.

My colleague, I wonder if he still lives in California.
>> Actually I think, looking at my little control panel here, I think he just hopped off.
>> Okay.
>> He's gonna let you off easy today.
>> I know. I'm off the hook.
>> Tim? Becky Williams at.
>> Hi.


>> Hi. I actually find this quite interesting because we are one of those hospital systems that is excessively challenged by our admission ratios. We were high with all three diagnostic categories and we do serve a rather lower income population in the New Bedford. So I find this model intriguing.

I know it is hospital-centric. I know it doesn't really consider any of the other payment incentive programs and pay for performance programs that also seem to share some of the benefits from some of the intervention. In that way, but would you be interested or are you looking to work with another hospital to maybe have us share some of our data and have you use that to further test this model?


>> Luke is drooling right now. Yeah, yeah.
>> It's just so timely for us, because this is one of our biggest issues, and I especially find it interesting that we're about to embark on all this work. We've lost the first two years that were included in the first report, like you were stating, but there's not a lot of time before they start adding other conditions and other things to this at around 2015.

So we have to start doing something. But we don't want to do more than what we have to because as you understand the community care setting here for these hospitals we can't afford to lose too many admissions. Especially if it won't be cost effective for us in the long run.


>> Well and that's exactly I think the last comment is kind of the point. I mean, right, we all are in this business, we want to do the right thing and it's about being there, occupation health and preventing admission much less readmission but at some point in time.

You're giving up a lot of revenue.
>> Oh absolutely I mean if you consider a hospital system like ours, we're a three hospital system. And you look at what our readmission rates are as they are calculated by CMS. That's a huge part of our total discharges. When you consider all those, it's a huge part of our volume.


[bookmark: _GoBack]>> Right. Right. That's why I think going back the Larry Gamm's comment, kind of, but implicit in his comment was, I think there needs to be some work to rethink the policy, you know if we're gonna get more systems to really take up the charge. Because purely I know it's not about the money.

But purely from a money perspective those 2,300 hospitals that got penalized probably were just skipping all the way to the bank. They saved money unless they spent less than 100,000. But back to your offer. Yeah. Thanks again for the visit a couple weeks ago but I think we would love to figure out how to detail this further maybe with you and or other systems as a test bed?

Because you're a multi-hospital system, you also have outpatient clinics, etc. So let's chat offline about that.
>> Absolutely, thank you.
>> Wonderful.
>> Jim, this is Steve Eskomia, I apologize, right when you mentioned my name, I must have gotten freaked out because I went to hit the mute button, but instead I hung up on you.

So sorry about that. But lots of thoughts going through my mind about this fabulous work that you’ve done, Luke. And I think you hit the nail on the head around the policy implications of this. In some cases the incentive might not be large enough. In other cases the incentive is a negative incentive.

So how can we work on the policy side to fix that and I have some thoughts for you that I can share offline Jim. But in the meantime there are enough hospitals that benefit by investing in their readmission/reduction programs and the graphical way that you display the impact.

I think can be very useful to lots of organizations. And even those who are in the red in terms of what they have to gain by improving, that's useful information as well, so that they can adjust their own payment structures and start working with their own plans. So one thing we can talk about offline, Jim, is how to feed this more towards the policy folks.

The other thing we can talk about is here in the San Francisco Bay Area we have a consortium headed up by a group called Sinosure. They're leading a collaborative called ARC, achieving readmissions collaboratively. And there are about 25 hospitals directly involved and then about another 30 or 35 who attend but aren't directly involved.

So we can potentially get this model in front of a wide number or organizations right here in the Bay Area. I think it would be very welcomed and helpful to what we're doing out here.
>> So all of that interests me, as you can imagine. That would be very cool.

I am even thinking that if you are going to put together a collaborative, it makes sense to run the analysis and those with the high curves are the ones that would be most interested in working collaborative.
>> On December 4th we are about to kick off a second such collaborative, second arc collaborative funded by the California Endowment.

So we're right at the right time to test this and apply it.
>> Wonderful. So, yeah, just to reiterate, we'd be totally interested in presenting the work, getting some feedback, figuring out how to support that. Whatever makes sense so you and I can talk offline. I want to leave a little time.

I wonder if there are any other comments, questions, important nuance for us to consider in the next chapter?
>> One question I had for Luke, is I wasn't quite clear on the factor that you use to adjust for the lost revenue. How do you suggest getting to that number?


>> So that would be a number that would be decided by the hospital. You know it could just be one thing that for every admission I prevent by intervening, I view that as 100% of that potential reimbursement lost. It's just a way of giving the hospital more flexibility.

Maybe if they're running at capacity they don't view a prevented admission as a total loss in revenue because it just saved a bed or saved time to perform another procedure. So that's what I was trying to capture with that. I'm not sure if that clears it up more so.


>> Yeah so it's not exactly a gut feeling number. It's up to the hospital to figure out how they want to calculate that.
>> Yes I mean it would. You know it would be based upon how they feel you know their specific circumstances to decide what that should be.


>> It wouldn't be something we calculated.
>> But what percent of days they're at or close to census.
>> Yeah.
>> At their census close to capacity.
>> Mm-hm. I mean it could be something that could just be numerically estimated, or it could be something that-
>> You could ignore it by just setting it equal to one.


>> Yeah setting equal one would you know, just pretend it was never there.
>> Right.
>> Right, and so it gave more customization for the hospital to make it fit their system.
>> Just like if you'd set the entrance to zero.
>> Yeah.
>> Which is kinda where we are.


>> Yeah.
>> Just glancing at the hour here, this is Larry again and Luke and Jim, I wanna thank you so much for a great presentation and I'm sure there'll be a lot of discussion of this offline as well. So thanks so much everyone.
>> Yes, and just as a reminder we will post not only this recording, but any pertinent files behind the password protected section of CHOT.

Feel free to email me if you need access to those, and we look forward to seeing you guys again on December 5th for the next webinar, which will be around management and innovation. If that's not your specialty or area of interest, by all means forward this to someone in your organization that would be interested and would benefit and we'll talk to you on December 5th.


>> All right. Thanks everybody for hopping on the phone and the Internet. And thanks Nick for helping coordinate all this, hugely appreciated. Thank you.
>> All right, we'll talk to you soon, thanks Jim.
>> Yeah.

